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FIRST YEAR HIGHER SECONDARY MODEL
EXAMINATION, JUNE 2022
Part — 111
ECONOMICS

Maximum : 80 Scores

Time : 2'42 Hours
Cool-off Time : 15 Minutes

ﬁ?eneral Instructions to Candidates : \

« There is a ‘Cool off time’ of 15 minutes in addition to the writing time.

* Read questions carefully before answering.

e Calculations, figures and graphs should be shown in the answer sheet itself.
« Malayalam version of the questions is also provided.

« Give equations wherever necessary.

« Electronic devices except non programmable calculators are not allowed in the

Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries one score. (10x1=10)

1. Who among the following economist is associated with the estimation of National Income in

British India ?

a) V.K.R. V.Rao
b) Amarthya Sen
c) Mahalanobis

d) C. Rangarajan

2. Which of the given factor is considered as human capital ?
a) Machinary
b) Equipment
c) Trained labourers

d) Computers and electronics

3. Integration of the domestic economy with the world economy is known as
a) Privatisation
b) Globalisation

c) Liberalisation

d) Nationalisation

4. Which method 1s used for the estimation of population in India ?
a) Census method
b) Sampling method
¢) Random sampling method

d) Lottery method
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1 ayoad 12 cuen 8a10a)eBgl@d ageomeslelio 10 ag)eEUm 9EMEODY)®)8. B} 8T allmo.
(10x1=10)

1. @6y @mmigissciilad Enfigla’ ommywiees 3RUHI QLIBYBOM EBMEEIHOHRIYDORI LTS
TUOTUIETEIE: (RO(REETND @D ?
a) all. 6. @d. ll. 00
b) @Rad® T
c) manenemosniimy
d) mil. RomORMD

2. @0 mTigesniad amies ymieIlmad UADMIBHYM CLISH:0 AR ?
a) Q(EXNETBUD

b) ©alspemenBdd
¢) asdivbleimo emelw emoSlee]e:0d

d) @oalYgOsBBI0 DRIBIAROATIERL0
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S. Which of the following is a measure of central tendancy ?
a) Standard deviation

b) Mean deviation

¢) Arnithmetic mean

d) Co-efficient of variance

6. Which of the given system is not included in the Indian System of Medicine (ISM) ?
a) Homeopathy
b) Naturopathy
¢) Ayurveda
d) Allopathy

7. Which of the following is not a function of the Environment ?

a) Supplies resources

b) Degradation of land

¢) Sustains life

d) Provides aesthetic services

8. Cultivation of land collectively by people in China is known as

a) Five Year Plan
b) Commune System
¢) Green Revolution

d) Great Leap Forward

9. Who discussed the concept of poverty line for the first time in Pre-Independent India ? ]
a) William Shiras

b) Jawaharlal Nehru

¢) Dadabai Naoroji
d) Dr. Manmohan Singh
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5. @06 MaEIRI@ee MA@ @B [EIEM® BOMB:0 GO ?
a) @OMeE QUYBIOIMo
b) @ow) uyeiaomo
C) LT DOW O
d) cuyallaom wyemdeso
6. ayues mAelRidenmaueid ‘smmyid miggo &0a0 easlmild’ (ISM) -ad ©6aIsoTH
Q@M ?
a) eanoaiieoa @l
b) Mo)e00aIm)

c) @ER@deB
d) @nee0®)

7. anaes matsiaidenymaiiad adnudalwes wdano @D af® ?

a) allerustBUd [aEOMo S.2JIQYUMNYL

b) aerfleng @oalaio
¢) ouad oleirfioyemiomny

d) cromePmiEE Made:3M)

8. 66omid, MR Mosedmeol msqflendsiw ey dol @O SITN®

a) aErRUCUDNO oL

b) damyend migo

¢) andi® allgjolo

d) @anEmOW &H)oila] 21050 (a(ng ella sanodenud)

9. P, alydqy 0w yidd @G YRow] BOMI(B)B06Y gy ERUWo 21 IR L8107 @DO6M) 2
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10. When two related variables are moving in the same direction, correlation between the

variables 1s known as
a) Positive correlation
b) Negative correlation

¢) No correlation

d) None of these

11. Index number for the base period is always taken as
a) 0 b) 1

¢) 100 d) 10

12. Variables which can take any numerical value 1s

a) Discrete variables
b) Qualitative variables

¢) Nominal variables

d) Continuous variables

Answer any 6 questions from 13 to 21. Each carries 2 scores. (6x2=12)

13. List the financial institutions India approached to manage the economic crisis before the

implementation of New Economic Policy in 1991,

14. Over the summer journey, Mr. Rambo finds the fuel price of six States varies as given below :
102, 104, 98, 95, 100, 108

Calculate the range of fuel price over the States.

15. List any two goals of Indian Five Year Plans.
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10. A UMDOIES OS2 IVETBRDLE BEO deieelss’ IR0 HENBOB MWD, 2I0BUD

®anle)es Mansnimbo ERCIWeR|SIINE!

a) ealomiiglal manenimwo

b) exmmgial ManenIMWo

C) ManeNIMWo §DL)

d) socueommyme)

11. @pdimuoom @oeiweaalad vy lle:0msa0nl ag)sa oo aldlnemienyomm
a) 0 b) 1

¢) 100 d) 10

12. ogy® moosuy ayelyiio Mlexdlenamd &:¥lmym 2leemBad

13 ayead 21 cuen 82106 0egl@ agemeiene 6 agepafia ameo agwime. 2 aapod allme. (6x2=12)

13. 1991-a asp@mad momieEnie: m@o Msaflelnsnymailm myemoslwowi] s ywild
alesrflorleym momieilée: lalrmul a0 §21gom sy mudlalle] WMEOID)

MUO2AIMEIBRLOS Bald alSld:60alS)aTid:.

14. dlgud 020eenI0 MO sUM@Sn0Ll W@, @O MomuoomemBginal omum allel @oe'?
m@eIldenym moomiad aympRmeagldenimmon e:asnsarsi.

102, 104, 98, 95, 100, 108
momunamesesleel snmumalieiwes eoweml (Range) S:6meanose)d.

15. 00 RO aALAIBHRIOS aROMBILI0 VNS Bld:x \IBG el 610 1Q) .

ME 635 Economics 7/16




41N

Score

| ' ' ! 1a.
16. List any two areas, which need special focus as a part of rural development in Ind

17. 1dentify chronological classification and spatial classification from the following :

a) Number of Covid patients in different States of India

b) Population of India from 1951 to 2011.
18. List any two features of a questionnaire used for data collection.

19. Wnite the economic term for the given below statements :
a) Index number that measures the average change in retail price

b) Index number that indicates the change in general price level.

20. List any 4 steps towards making a project.

21. Write any two sources of data on unemployment in India.

Answer any 5 questions from 22 to 28. Each carries 3 scores. (5x3=15)

22. Write a short note on ‘Green Revolution’.

23. Distinguish between formal sector and informal sector of workforce with suitable examples.

24. Mention any 3 advantages of personal interview method of data collection.

25. State the term of the following :
a) Person who buys and uses goods to satisfy wants
b) Person who sells goods to make profit

¢) Person who employs somebody by giving them wage.
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19.

20.

21.
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samyiesl madlem allemmasiend @mmO] (IB® B YBEL @DOIMRYDISS O6NS GM6L LD
SIS LOm ).

2naIs madeIidleny M@ @:0elmmMy® Adle:eemo, muoeflw Udgle06mo agynilal
SNBSS g) L1
a) spomy@ieel aliafiw comoomemgleel a@:dnlluw aroull@giens ag)epo

b) 1951y 2011 ueom@8s EHOMYMD RMIVOEL.

allue eaIEEMETHIM Hale@oullenim caloapelwes age®Eslelo E6Ns QNG H®D
el 61019,

206 NMSIVISES (L ITROUMERIOS MVOMUEIE: alBo ag)LA®Id:.
a) 2lgjo alleaios tednadl @oge @AM M2 flexdmso

b) exlom) alleieea moge quyallalleaniom myalle:osso.

800}, HIOREE BYIOIELMEIMIES a@e®mslelio 4 ARISEBGD alSleen ISIE1TE:.

60D @B, HBOALlLOQWIOS HEMENLEWD LIElEBOIM aRemEIIEljo 6N HONISEIBUD ag) LA,

22 ayamnad 28 cuen @210 yBelad agemeilele @Rl ag)ep@mUTIMm QEMAROAP M.
3 eapod aliao. (5x3=15)

22.

23.

28S.

an@l® Qg Jouexars &x)3la] 8o} 62108 a] ag)#3®e.

60010 1006, GRERIInRI)L0 @ Ialalible, caaeialoei@io HmMOHATS vodrti, @RMIERIOR YHOW
£E0ANOEMEIBEE6S GODMIGl2) @RCIW 3.

. GOMEMELOEMOTEIMEE (UBEIn® Eodnis) daiwes agamelelo 3 emgemud mgala fleeds:.

©069 MABIBH6)MOUWYOS alBo (aITUONIHE)H:.

a) @AIKYEERED MAOGAGIMEAM MOWMEBRUD (OETBIEW L0 HAIBROUIBOLEW o 6.2 KGO QL yB(E)
b) eneo amsymaiimowl auowmensud A ll@deanm o yer
C) BOUBMNO 6)B:0S)OTT) BREXVEOWEBIIEIL0 GEORIOBOSIHEOLTN QL YH).
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26. Expenditure schedule of a first line Covid centre in Kerala is given below. Show the ex penditure

in a Pie diagram.

Expenditure in
Percentage
Ventilators 18%

30%

F_’ul_se O)-cim-eter

Miscellaneous

27. Calculate quartile deviation for the following data :

20, 22, 24, 25, 26, 28, 32, 38, 39, 46, 48.

28. Construct Index Number from the given data by using simple aggregative method, considering

2010 as base.

L 2010 [ 2015

n 0

Answer any 3 questions from 29 to 33. Each carries 4 scores. (3x4=12)

29. Explain the measures that are initiated by the Govt. of India to improve the agricultural

marketing system in rural areas.

30. Analyse the various strategies that adopted by the Republic of China in their developmental
path.

31. Analyse the state of infrastructural development in India under the British rule.
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26. c00MIOL &0Y (IOOD]E 001 all&l@0 EHM3ETeRl O .aleli algld MmOeY
naeIdlenm;. ealeial aldle o6l WO H06mIB6 1.

alelnd
(cxmadmaiied)

OUFIERIQOYB D

PPE &\Quadd 30%

DM 80SMUIAIQd 12%
OOBQYLOBUD 10%

T

27. 2)0es MARSIQEEHM COMBEINS 2MIBMOE: QUYTIWIMo BHEMBHOBEIE: -

20, 22, 24, 25, 26, 28, 32, 38, 39, 46, 48.

28. 2010 aller @e<lmunomaoal] aidinemle)] eeaiel el Adl (Mloalld @WENEIRT HABEDW)
OIEROWSHEI (02 le:08s0 MlBABH6H:.

Zo010 | 3015 _

9
0 | w0
o W[

29 ayaad 33 cuen @al06)BRElM agemelele 3 ageROETIm QO ag)Pim)d: 4 aapod allme.

5
45

(3x4=12)

29. (wodlem sasueilees B:0fadle: allatemm Moawomo OBLIORSIEMIMEIM OO
naueead msellensslw msaisle:id allaidenys..

30. dlojep/le6) @oal 66.21M, EOIIOS allemm alom@d msqflenssle allaluw eOmesdd
lvodeimo 6).21Q) .

31. (EnSlayd’ @eem@Miid ¥ gamy BMSIW alURIOGTHES B0 lB:rmo Aflvadeimo 6219 d:.
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. . . v test. Construct a
32. Following are the marks obtained by 30 students in economics in a class

frequency distribution table with class interval equal to 10.
16 13 5 8 8 7 51 48
70 19 61 17 16 36 34 42
35 72 55 62 31 30 4 17

24 34 72 56 27 43

33. Draw scatter diagrams representing the following :
a) Perfect Positive Correlation
b) Perfect Negative Correlation
¢) Positive Correlation

d) Negative Correlation &

Answer any 3 questions from 34 to 38. Each carries 5 scores. (3%x5=15)

34. Calculate standard deviation and co-efficient of variation for the following frequency
distribution table

35. Analyse the industrial sector reforms and tax reforms implemented as a part of liberalisation
measures in 1991.

36. Explain the sources of Human Capital Formation.

37. Analyse the challenges that the power sector in India is facig, - T
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32. OMUEHER(RETIMR Bd GO OSEMAM 30 3)3led emsi mdH6) 21jIOS M@HIRIZH6NS.

&N opdeOU@ 10° @@ cidlnem]a] 8oy AR Almoem algles rldanoe jé.

16 13 5 8 8 7 51 48
70 19 61 17 16 36 34 42
35 72 55 62 31 30 4 17

24 34 72 56 27 43

33. 6% M@ BL6MAUOD (ITmluwle:@lenm Mogd W®WEIBUD AUUORIH:.

a) al@lalyden ealomilglal manenimwo

b) al@laiydemn emmglal Mansnimwo
c) saloMiiglal maneniawo

d) emwgial canenimuo

34 )o@ 38 cuen 82103 emgldd agem®lelo 3 ageRETIM EMRE ag)Pimid:. S 8aRD Allme.
(3x5=15)

34. 25065 O@HI B0 @AY Allmosmalgle:d mlom’ aomdey@mIomo,
(standard deviation)cuy@l@om uysmosso (co-efficient of variance) ag)ACU S6MBILEYB>.

2o0e6 | &)518:8)6S ag)e[po

20 E
7
30 |10
35 12
38 6

35. 1991 -af HEOEAGHOEM MSaSlB@Les @O MSqflendsilw QUOAIMIWIE: GaaIeld
Bl e6006m810 (8301 alblaienosmsglo Alltddeimo O.aIY .

36. @myayy BRIWM OgatlH0emETIOR oollsemid AlloE]e:oloe .

37. eamy@idd podorsacne) GOEIRRB:0lHO3M (adaflorvaullesd alledeimo
6).21Q) 6.
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38. Draw less than Ogive and more than Ogive from the given below data :

Daily wage | Number of persons ;
0 - 50 7 i
50-100 10
100 - 150 20

150 — 200 13
200 — 250 12

250 - 300 19

300-350 | 14

350 -400 9

Answer any 2 questions from 39 to 41. Each carries 8 scores. (2x8=16)

39. a) List the causes of poverty in India. 3)

b) Analyse the policies introduced by the government for alleviating poverty in India. (5)

40. a) What do you mean by sustainable development ? (2)

b) What strategies can be adopted to achieve sustainable development ? (6)

41. Calculate mean and median for the following data :

Marks Number of persons

10 — 20 4
20 — 30 7T

30 — 40 16

20

) 15
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38. ajues maelelclenim comemssld mlimyo eeiqy oM agflal, egmod BoM® e&lal ag)mila

QUORIE:.
dlcum summe | a O &80 ag)€Ro B
0 — 50 I 3 B
50 — 100 10
100 — 150 20
150 — 200 E
200 — 250 12
250 — 300 19
300 — 350 14
350 — 400 9

39 oyo@ 41 cuenr 82126 Bl agemsleljo 2 ag)RATIM 9EMMO af)PI® b,

8 empod alime. (2x8=16)

39. a) s yleel GIEIELITIMISE HIPEMETBA oS00 IS B,

b) soomywi@d, waenead msqflenssio codEymidaodnsrm alavaile:wd allvedeeimo
6.2IQH:.

40. a) avymudie Ale:mmo ag)M@YOE:IENE BORMOBIBOIM® ag)TmOEM 7

b) amuyudie afle:mmoe 66E:UBlEeM ag)OmRJ00 OMEBRIEM mflenlessem® ?

41. 2530065 M@HIWdlEeM cEmeBgld mlimio oW, AW 080 ag)MICU B6MBOIBELH:.

aodes | QU)entile:g)60S ag)epe
#
10 — 20 4
20-30 | 7
30 — 40 16
40 — 50 20
50-60 | 15
60 — 70 8
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